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Solution algorithm can be presented on a sheet of paper or sent via e-email vladimir.viies@gmail.com. Sent files can not be compressed.
1.Write an algorithm(+code ), which will have the following requirements:
1.Matrix A [n] [m] will be read from keyboard, maxn=10,maxm=11.
 2.Finds a sum of  elements for every column, below column 5, in matrix A (the  one sum  per every column), and outputs them on the screen on ascending order.
2.Write an algorithm(+code), which will have the following requirements:
1. Program inputs positive integers from a array NUM (every number is less than 4444)

2. Program outputs each inputted number and  convert them to hexadecimal. 

For example:
5    ………….5
11  ………….B
64 ………….40
…
… 
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